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a XM b YM cYR XM YM

⋅ + ⋅ +⎡ ⎤⎡ ⎤
= = = ⋅ ⎢ ⎥⎢ ⎥ ⋅ + ⋅ +α ⋅ + β⋅ +⎣ ⎦ ⎣ ⎦

(4)
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WSP∈R8,  WSPT = [ a1, b1, c1, a2, b2, c2, α, β] (5)
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PRi	�	����D��i),    i = 1, 2, 3, 4 (6)
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���8eniu we wzorze (4) obydwu stron przez czynnik liczbowy (α⋅XMi+ β⋅YMi +1)

(α⋅XMi+ β⋅YMi +1) ⋅PRi = (α⋅XMi+ β⋅YMi +1)⋅����D��i)

�
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1
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2
4 4 4 4 4 4 4
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4 4 4 4 4 4 4

1 0 0 0

0 0 0 1

1 0 0 0

0 0 0 1

a

b
XR XM YM XM XR YM XR

c
YR XM YM XM YR YM YR

a

b
XR XM YM XM XR YM XR

c
YR XM YM XM YR YM YR

⎡ ⎤
⎢ ⎥
⎢ ⎥− ⋅ − ⋅⎡ ⎤ ⎡ ⎤ ⎢ ⎥⎢ ⎥ ⎢ ⎥− ⋅ − ⋅ ⎢ ⎥⎢ ⎥ ⎢ ⎥ ⎢ ⎥⎢ ⎥ ⎢ ⎥= ⋅ ⎢ ⎥⎢ ⎥ ⎢ ⎥ ⎢ ⎥− ⋅ − ⋅⎢ ⎥ ⎢ ⎥ ⎢ ⎥⎢ ⎥ ⎢ ⎥− ⋅ − ⋅⎣ ⎦ ⎣ ⎦ ⎢ ⎥α⎢ ⎥

β⎢ ⎥⎣ ⎦

� � � � � � � � � (7)
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PR1 = [0 0]T,   PR2 = [1 0]T,   PR3 = [0 1]T,   PR4 = [1 1]T (8)
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PRi	�	����D��i),   i =1, ..., n (9)
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���rszach i 8 kolumnach

1

1
1 1 1 1 1 1 1

1
1 1 1 1 1 1 1

2

2

2

1 0 0 0

0 0 0 1

1 0 0 0

0 0 0 1
n n n n n n n

n n n n n n n

a

b
XR XM YM XM XR YM XR

c
YR XM YM XM YR YM YR

a

b
XR XM YM XM XR YM XR

c
YR XM YM XM YR YM YR

⎡ ⎤
⎢ ⎥
⎢ ⎥− ⋅ − ⋅⎡ ⎤ ⎡ ⎤ ⎢ ⎥⎢ ⎥ ⎢ ⎥− ⋅ − ⋅ ⎢ ⎥⎢ ⎥ ⎢ ⎥ ⎢ ⎥⎢ ⎥ ⎢ ⎥= ⋅ =⎢ ⎥⎢ ⎥ ⎢ ⎥ ⎢ ⎥− ⋅ − ⋅⎢ ⎥ ⎢ ⎥ ⎢ ⎥⎢ ⎥ ⎢ ⎥− ⋅ − ⋅⎣ ⎦ ⎣ ⎦ ⎢ ⎥α⎢ ⎥

β⎢ ⎥⎣ ⎦

� � � � � � � � � C WSP⋅ (10)
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⎢ ⎥
⎢ ⎥=
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prosta (W1, W2) = {x∈R3: x = W1 + t⋅(W2 – W1),    t ∈R1} (11)
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